ASSEMBLY
INSTRUCTIONS

Thank you for purchasing this quality product. Be sure to check all packing materials carefully for

ITEM NO.: I752-SF

Sofa

small parts may have come loose inside the carton during shipment, clarify and count all parts and

compare with the parts list below. Do not tighten all screws / bolts until all completely assembled.

Parts List:
REF. PART NAME PART IMAGE Q'TY ||REF. PART NAME PART IMAGE QTY
A | Seatframe % 11 Bolt M6*35 8
B BaCk fl’ame \ 1 J BO|t M6*20 ) 8
C | Leftarm |/‘ 1 ||K | Metal Washer(M6) 16
D Right arm I/‘ 1L Lock Washer(M6) < |16
E | Seat bottom < 2N Allen Wrench = 1
F | Middle leg { 1
/\ _mportant Notes
G | Back cushion % 2 Bl etbopto ool i
g;«;?l:ic:] :olts and screws may become loose
Seat CUShion Q 2 * Don't attempt to modify parts






